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(iii)
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(v)

AT ST B W foh 39 TH-99 § Hfgd I8 23 § |
Please check that this question paper contains 23 printed pages.

FUAT = A foh 30 I-9T H 38T B |
Please check that this question paper contains 38 questions.
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fod |

Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.
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ford |
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answer-book before attempting it.
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3rafy o SNH o IT-YRhT T hIg IR & fora |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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T 3397 :
el 39T &1 Sga arae] & igq 3R 371 T & 9T Sy

(i)
(it)
(iit)

39 J97-97 § 38 ¥97 & | @¥t yv7 erfiard & 1

I8 J7-9 Gid @USl § [QYSa 38— &, @, T, 705 & |

GUe & A Y7 §&9] 18 18 T% aglasedid (MCQ) a7 Y97 &7 19 Tq 20
ST Ta a9 STIIRT 1 37% & Fo7 8 |

(iv) @S W H 397 q&Ir21 @ 25 7% 3717 TG-ITIT (VSA) ¥HR & 2 37l & J97 8 |

(v) @S T H J97 &I 26 T 31 7% TG-FHIT (SA) TPR & 3 3] & FoT & |

(vi) TS TH J97 G&I132 @ 35 T JH-IHIT (LA) TR & 5 3Hl & J97 8 |

(vii) @UE &F 7 Y97 T&I7 36 T 38 T%F YU 37677 TeRT 4 bl & J97 8 | I3
JHT S7EFTT H STARF f[dheq 2 37h] & Y97 8 1097 =7 & |

(viii) I99-99 H G5 399 757 397 131 8 | Fafi, @ve @ 3 2 yv41 3, @ve T & 2 Jo7)
4, @8 g &2 Yo 7 a9 @8 & & 3 Y99 H aR® ladhcq &1 Jraer 1731 737
g1/

(ix) &l TVTF &1 T8 HFHadl FH15Y | & avdF & m = % T, Iie 3T
7 a7 71397 31 |

(x) PP BT ITIT AT 3 |

@ us &
39 @IS H Fglahedid ¥97 &, 974 I 397 1 3% H1 & | 20x1=20
1. I ™ fF AABC~ADEF. I L A=55°, /E=45°%, Al L C3:

(A)  80° (B) 90°

(C) 55° (D)  45°
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(it)
(ii1)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not

stated.

Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each. 20x1=20

1.

It is given that A ABC ~A DEF. If £ A =55°, Z/ E =45°, then £ C is :
(A) 80° (B) 90°

(C) 55° (D)  45°

15-430/5/3 P.T.O.
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2. TS0 16 cm 97 99 1 TH 18:5 cm e AW G o4 HSIEUS T &T6A 3

(A) 168 cm? (B) 148 cm?
(C) 154 cm?2 (D) 176 cm?

3. IR tanZ0=3,&l 0 Th < IV 7, Al OH AH 3 :
(A)  30° (B) 60°
C) 0° (D) 45°

4. IR x TH IO H&AT &, Al x o [hd W ! SISH 8¥ qH 31 T THH BiaT & ?
(A) 6 B 4
<) 2 D) o

5. @& T ampfd #, BYs ABC #, DE || BC 8 | 3@ AD = 2x cm,

AE=(X+2)cm,DB=4cm,EC=3cm%,?‘ﬁxwtﬂq%:
A

2xﬂ+ 2) cm
D > E
4 cm/ &cm

B C

A 4

A 3 B 2
C) 6 (D) 4

6. 15 m >d Teh fooicil o @Y i Yl W IS4 dTcll BT Hl @918 54/3 m g | 38
T 9 I 1 37 @

(A 90° (B) 60°
(C) 45° (D)  30°

15-430/5/3
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2. The area of a sector of a circle of radius 16 cm cut off by an arc, which is
18:5 cm long, is :
(A) 168 cm? (B) 148 cm?
(C) 154 cm? (D) 176 cm?
3. If tan? 6 = 3, where 0 is an acute angle, then the value of 9 is :
(A)  30° (B) 60°
) 0° (D) 45°
4. If x is a whole number, then 8* ends with an even digit, except for which
value of x ?
(A) 6 B 4
) 2 D) o

5. In the given figure, in A ABC, DE || BC. If AD = 2x cm, AE = (x + 2) cm,
DB =4 c¢cm, EC = 3 cm, then the value of x is :

A
9x em/. \(x+2) cm
D/ > \E
4cm/ &cm
B > C
A) 3 (B) 2
© 6 D) 4

6. A lamp post 15 m high, casts a shadow 5+/3 m long on the ground. The
Sun’s elevation at this moment is :
(A)  90° (B) 60°
(C) 45° (D) 30°

15-430/5/3 P.T.O.
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11.
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Ifd x=4sin0, y=4cos0 B, A (x2+y2) HI A 7 :
1

A 4 (B) 1
© = D 16
16
foama i x2 + 3x - 10=0Fh A & :
(A 5,2 B) -5,2
C) 5,-2 (D) -5,-2

g O 9l Id W oTel foig A 9 & T9Ri3@d AP 3T AQ &R 90° % i T
I g 7 | AR Ik Tl i S 2 em 7, A g9 B B R

(A) 4cm (B) 2cm

(C)  2V2 em (D) 1cm

RT3 40 3 30 % flt HCF x LCM ® :
A 12 B) 120
(C) 1200 (D) 40

Teh JRERAT &2 |, Teh a7 ol HEI-AM 10 8 AR I A T A9 63 | 39
il 61 et ot @ R

(A) 6 B 7
c 8 (D) 12

15-430/5/3
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If x=4sin6, y =4 cos 0, then the value of (x2+ y?) is:

1

N ®

© L D) 16
16

The roots of the quadratic equation x2 + 8x—10=0 are

(A) 5,2 (B) -5,2
(C) 5,-2 (D) -5,-2

AP and AQ are tangents drawn from an external point A to a circle with

centre O and inclined to each other at an angle of 90°. If the length of

each tangent is 2 cm, then the radius of the circle is :

(A) 4cm (B) 2cm
(C)  2V2 em (D) 1cm

HCF x LCM for the numbers 40 and 30 is :
A 12 B) 120
(C) 1200 (D) 40

In a frequency distribution, the mid-value of a class is 10 and the width

of the class is 6. The lower limit of the class is:
(A) 6 B 7
C) 8 D) 12

15-430/5/3
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12.

13.

14.

15.

16.

17.

TEAT 424 1 YT OHEE § :

(A) 2x53 x4 (B) 2x53x%x2
(C) 23x53 (D) 24x53
IRgeh AHfRtoT I 2kx + 5y = 7, 6x + 5y = 11 1 shddl Teh Agd™ & &I,
R
(A k=#3 B) k#-3
1 1
C) k== D k#-—=
(©) ¢3 (D) # 3

fama THishtr ax?2 + bx + ¢ = 0 % 7 JRaiah TR fir= g, afc

(A) b?2-4ac>0 (B) b?2-4ac=0

(C) b2-4ac<0 (D) b2-4ac>0

Ife Tk g i ¢ ST & &= &1 R0 130° 8, A1 31 B=AmeTi o6 7/ W= &+
W—Wﬁ%ﬁﬂﬂwg:

(A)  50° (B) 60°
C) 90° (D) 130°

12 cm T3 11 Tk I <hl Tk =19 hl @15 10m cm g | I8 =19 I o ohg T
T HEIT HIU ARG A B, TB B -

(A)  120° B) 6°
(C) 75° (D)  150°

feigati A2, 8) 3R B(- 6, 4) %! WA a1t T@REE AB 1 A6 &
A)  (2,6) (B) (-4,12)
(C) (~4,6) (D) (4,-6)

15-430/5/3
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13.

14.

15.

16.

17.

e
Prime factorisation of 424 is :
(A) 2x53x4 (B) 2x53x2
(C) 23x53 (D) 24x53

The pair of linear equations 2kx + 5y = 7, 6x + 5y = 11 have a unique

solution, if

(A k=#3 B) k#-3
1 1
©) k;tg (D) k¢—§

The roots of the quadratic equation ax? + bx + ¢ = 0 are real and distinct,
if

(A)  b2-4ac>0 (B) b2-4ac=0

(C) b?%-4ac<0 (D) b%-4ac>0

If the angle between the two radii of a circle is 130°, then the angle
between the tangents at the ends of these radii, is :

(A)  50° (B) 60°

C)  90° (D)  130°

The length of an arc of a circle with radius 12 cm is 10n cm. The central

angle subtended by this arc at the centre, is :
(A)  120° (B) 6°

(C) 75° (D)  150°

The mid-point of the line segment AB joining A(- 2, 8) and B(- 6, 4) is :
A  (2,6) B) (4,12

(C)  (-4,6) (D) (4,-6)

15-430/5/3 P.T.O.
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18. Wsq ‘MATHEMATICS ¥ Ush 38R ATgeadl IAT Sdl & | 36 & % Th

‘T B HT UTRIekdT T @ ?
3 4
(A) T (B) 11
5 7
(C) 11 (D) 11

J97 &I 19 3K 20 3THIT U T ST 597 & | & H97 130 70 & 574 v %]
STYHIT (A) T TR B 7% (R) GRT 37 91 7797 & | 57 F971 & @& IR 19 157
77 F1st (A), (B), (C) 3 (D) & & g7 i |

(A) AR (A) 3R Th (R) GHI H&l & R @b (R), AR (A) i &
ST AT § |

(B) AfYHAT (A) 3R b (R) HT Tl &, Tg dob (R), 3MHheH (A) hI T&l
T TFT Ll 3 |

(C) 3fyehed (A) U&l 8, Tg Toh (R) T & |

(D) AMHeH (A) TeId &, 9Gq % (R) T& 7 |

19. 37YHYT (A): T ITHT % T, TEAT 8 TT B ohl JTRIhdl A (0) 7 |

T (R) : Teh TEYT T <hl TTIehdl I (0) BT B |

20. IHFHIT(A): TAFR UG 5,1,-3,—7.. 1 G943 |

7 (R) : AR G ag, ag, ag .., a, P HE IR UH B 3

d=an—an_1ﬁ |

15-430/5/3 Page 10
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18. A letter is chosen at random from the word ‘MATHEMATICS’. What is
the probability that it will be a ‘vowel’ ?

3 4
(A) 11 (B) 5l

5 7
(C) 11 (D) 11

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),

(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
19. Assertion (A) : The probability of getting number 8 on rolling a die is
zero (0).

Reason (R): The probability of an impossible event is zero (0).

20. Assertion (A) : Common difference of the A.P. 5,1,-3,—-7 ....1s 4.

Reason (R): Common difference of the A.P. a;, ay, a5 ...., a, is obtained

byd=a,—-a_,_;.

15-430/5/3 Page 11 P.T.O.
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e @
57 GUE T 37lq TG-IRI (VSA) FHR & J97 &, o7 I3 & 2 37 & | 5x2=10
21. Thfag A¥, S TH 910 g ¥ 10 cm G W B, g0 W Gi= T8 ToiL@n 6
TER 6 cm @ | I h AT A1 hINT |
22. ﬁWth—x—2=OW@®§%,ﬁkWHﬂWWI
23. (a) IR o, pTgud 9898 2x2 + Tx + 5% IR &, Al o + 2 + af H AH
1A hINT |
rE
(b) e fgumd sg9g 6x2 + 37x — (p — 2) 1 Tk Yk, UL [ h1 GoohA
2, A p o1 HH Td ShifTT |
24. JIfe x = sin 60° cos 30° + cos 60° sin 30° &, Al x T AT I hIT |
25. (a) 98 IUE W@ i fSEH fag (38, y), Fgatl (- 2, — 5) 3R (6, 3) =l
fireT It Warge w1 fawfoa st 8 | y o1 | ot 3 i |
AT
(b)  y-31& W 3@ fag =l F1d I S fagati A6, 5) 3 B(- 4, 3) ¥ ¥AM
KU
QU T
59 GUE § TY-FHIT (SA) FHR & F97 &, 578 Jcd% & 3 3% & | 6x3=18
26. WgYE 3x2 - 5x —2 % B I HIY HN A qAT §GIE o TUehi 6 o
% TEY S A1 6l g I |
27. w53l A5, — 3) 3R B(- 4, 3) &l WA a0l [@TES &I FH-BWING HH o

forgai = Fgwss @ HifT |

15-430/5/3 Page 12
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. The length of a tangent drawn to a circle from a point A, at a distance of
10 cm from the centre of the circle, is 6 cm. Find the radius of the circle.

22, If % is a root of the quadratic equation kx% — x — 2 = 0, then find the

value of k.

23. (a) If a, B are zeroes of the quadratic polynomial 2x2 + 7x + 5, then
find the value of o2 + B2 + of.

OR

(b)  If one zero of the quadratic polynomial 6x2 + 37x — (p — 2) is
reciprocal of the other, then find the value of p.

24. If x =sin 60° cos 30° + cos 60° sin 30°, then find the value of x.

25. (a) Find the ratio in which the point (3, y), divides the line segment
joining the points (- 2, — 5) and (6, 3). Also, find the value of y.

OR
(b)  Find a point on y-axis which is equidistant from the points A(6, 5)
and B(-4, 3).
SECTION C
This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. Find the zeroes of the polynomial 3x2 — 5x — 2 and verify the relationship
between the zeroes and the coefficients of the polynomial.

27. Find the coordinates of the points of trisection of the line segment joining
the points A(5, — 3) and B(— 4, 3).

15-430/5/3 Page 13 P.T.O.



[=15=1
IE-%‘}

28. (a) Tag Hifvu fp foreft 9o & dfora TR Iqys FH=gyS g1 2 |
A
(b) fag i for foreht s fog & 9u W ©i=h T8 Tl-Xanedt i cersat
S B 7 |
29. (a) 20 m Y 91 Tk GHETE HYSTHR HEM % T 4 T T I8 Hl 14 m
oot TEH ¥ Sty fogn T ® | BeM % 3T W R &A% G shiterg o
TSl =X T8l Hehdl B |
Ao
(b) THh T I e H g H TaE 14 cm 7 | 39 e A gE g
8:00 am 3TN 8:05 am o S o 99I H I &% 0 hIFT |
30. ﬁ:@’ﬁﬁl’Q% 1+s1:nA =secA +tan A
1 —-sinA
31. fug HIST &% 6 + 32 T iy & 3, Safh faar w1 2 f6 V2 o
AUNET G B |
T uE ¥
39 GV H H-ITIT (LA) YR & I97 &, 578 Jedb & 5 37 & / 4x5=20
32. (a) TUs B ABC &l Y9U AB, BC T97 HIed AD Uéh 3= &Yl PQR
$I A YA PQ, QR dT Wifeysht PM % ®HTU 3 | gIise fok
AABC~APQRZ |
SrerE
(b) Tag s & afg freht By H v g & T@@R 3= @ gorsti &
i forgati W ufd=aad - & fou & @ Ei=t e, @ o= @
o T & 3T § fawiia drt & |
15-430/5/3
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28. (a) Prove that the parallelogram circumscribing a circle is a rhombus.

OR

(b)  Prove that the lengths of the tangents drawn from an external

point to a circle are equal.

29. (a) A horse is tied with a 14 m long rope at one corner of an
equilateral triangular field having side 20 m. Find the area of the

field where the horse cannot graze.

OR

(b)  The length of the minute hand of a clock is 14 cm. Find the area
swept by the minute hand between 8:00 am and 8:05 am.

30. Prove that M =sec A + tan A.
1-sinA

81. Prove that 6 + 3+/2 is an irrational number, given that J2 is an

irrational number.

SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. (a) Sides AB, BC and median AD of A ABC are respectively
proportional to sides PQ, QR and median PM of A PQR. Show that
A ABC ~ A PQR.

OR

(b)  Prove that if a line is drawn parallel to one side of a triangle to
intersect the other two sides at distinct points, then the other two

sides are divided in the same ratio.

15-430/5/3 Page 15 P.T.O.



33. fymfaRad stisrg 225 f3tia o4l % Sfied 1 (92 H) % SR H SR TeRia

HA §
e et (981 H)| <Al S we
1500 — 2000 10
2000 — 2500 35
2500 — 3000 52
3000 — 3500 61
3500 — 4000 38
4000 — 4500 29

Teh 9 k1 ATETeh ST shidd JTd shifolg |

34. (a) TUH fGAMT TH 7 cm BISAT o P o SRR I & S GHH BSAT o TH
ALY W ARG 3 | 39 ety il FoT 91 31 cm B | 39 Raaiiy =
I SA%A |G HIT |

AT

(b) TAHE! & Ueh 39 J o T R U Teh Tl Wigh e |
THE! i Th a&g S8 Sl g | Alg oo hl Sa15 15 cm R 3Fh
YR < BT 42 cm B, A 389 918 T8 9% H1 $A TN &A% A

i |

7

35. U 2-3ThII HEAT o 3ThI 1 AMHA 97 | $H T&AT hI Al AT, T h R
%! G W S H&AT 1 AT 2 | I8 W61 H1d T |

15-430/5/3 Page 16
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33. The following data gives the information about the lifetimes (in hours) of

225 neon lamps :

Lifetime (in hours)| Number of lamps
1500 — 2000 10
2000 — 2500 35
2500 — 3000 52
3000 — 3500 61
3500 — 4000 38
4000 — 4500 29

Find the median lifetime of a lamp.

34. (a) A toy is in the form of a cone of radius 7 cm mounted on a
hemisphere of same radius. The total height of the toy is 31 cm.
Find the surface area of the toy.

OR

(b) A wooden article was made by scooping out a hemisphere from
each end of a solid cylinder. If the height of the cylinder is 15 cm
and its base is of radius 4:2 cm, then find the total surface area of

the article.

35. The sum of the digits of a 2-digit number is 9. Also, nine times this
number is twice the number obtained by reversing the order of the digits.

Find the number.

15-430/5/3 Page 17 P.T.O.
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55 @V 4 3 YU HeJIT HTERT J97 & [578 Jcdeb & 4 3% & | 3x4=12

Th{0T HAETA - 1

36. TA-ITAT HAE o & @Y THAA FHH W 3R 40 m h g W @S 7 | GHI
QI I TAH TH o FT W g @H & e T g dRi gl HEN A S
2 | T WA (coupling) ! fog C W @1 T 2, F&l al AR M Hd & (ST
3Tehid H fe@mn m 7) |

Q

60° 30°
P
«—40m—

3T I o YR W, Ffafad get & I G

(i) @Y AB I S=TE ¥4 HINT | 1
(i) @Y PQ I H=E T HfT | 1
(i) (a) A GY PQ % B 1, @% AB & fIRR &, 3T &0 30° 8,
dl gt BQ T HifaT | 2
T
(b) aﬁﬂjﬂ?(coupling)atﬂ'—[ﬁZOmﬁmW%,Fﬁ?ﬁ%@ﬁAB
Y R o YA LA fehaft g W R 2 2

15-430/5/3 Page 18



[OpH O
e

SECTION E

This section comprises 3 case study based questions of 4 marks each. 3x4=12

Case Study -1

36. Two poles of different heights stand on level ground and at a distance of
40 m. Both poles are supported by wires attached from the top of each
pole to the bottom of the other. A coupling is placed at point C, where the

two wires cross (as shown in the figure).

60° 30°
«—40m———>

P

Based on the above information, answer the following questions :
1) Find the height of pole AB. 1
(ii))  Find the height of pole PQ. 1

(iii) (a) If the angle of elevation of the top of the pole PQ from the
top of the pole AB is 30°, find the distance BQ. 2

OR
(b)  If the coupling is at a height of 20 m from the ground, how
far down the wire from the smaller pole AB is the coupling ? 2

15-430/5/3 Page 19 P.T.O.



37.

[=15=1
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ThT AETAT - 2

gRET GYeET : 1 o Uh §d § I8 I T o 39 96 o fofw, agw 159
3R U 51% UNEW | ohis o= a1 AT, 20% URE § U o=, 19% IRar
T g o=, 7% INa J o1 o= 3T 3% IRa § IR 91 31fees o= o |

T qHER ATgeaT AT AT 2 |
3T BRI o YR T, FfcTigd et o I ST

(i) 9 TN UNER H @ A1 A S oh FiA ol JTRIehAl AT ShiTag |

(i) Y T YNGR | Th & Afh SI=dl o §H hl JTRIhal AT hITrT |

(i) (a) g4 TCUNGR § dF & H = b g hl TTIhal Aq HIT |

HAAAT

(b) T U URER H g ¥ AU F=AT o g I ITRhal [ hifT |

15-430/5/3 Page 20
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Case Study - 2

37. Family structure : In a recent survey of this year, 51% of the families in
the United States of America had no children, 20% had one child, 19%
had two children, 7% had three children and 3% had four or more
children.

A family is selected at random.

Based on the above information, answer the following questions :

) Find the probability that the selected family has two or three
children. 1

(ii1) Find the probability that the selected family has more than one
child. 1

(iii) (a) Find the probability that the selected family has less than
three children. 2
OR

(b)  Find the probability that the selected family has more than
two children. 2

15-430/5/3 Page 21 P.T.O.



[=1 4308

o

[= 64

Th0T 3ETIAT - 3

38. gAA I A 7 Tk A5 Al sl M Y& hl | S[dI I FaRIA HH o fow 38
ugcl Uitk ® 3 Sl 9d W, 3 Uitk § 5 el S W, A 9fe § 7 e S[d
@ 3G |

SOCIAL MEDHA TEMPLATE

3ITYh THSRI & IR B, Feaferfaa s & I e

(i) St Uik | fohad TS J[d W@ & ?

(i) Ugel MR Bt ufern § Tt St <t Sifeat § fepam oiaR B 2

(iii)  (a) gﬁ‘ﬁﬁﬁ%ﬁwﬁﬁ?ﬁﬁg’m fepat [t b1 Sifsal Tt e
|

AT

(b) G =l ufeh H JERMA @i hl Jodeh Sel T 500 hl HiFd T
Toshl W foran @, dt 71a hifse foh goa i A $a ferat gafa
Ha7 ot Afg 98 A o S fh <veft Ut § Wit S wft
Shifeat foes St & |

15-430/5/3 Page 22



[OpH O
e

Case Study -3

38. Sumant’s mother started a new shoe shop. To display the shoes, she put
3 pairs of shoes in the 15t row, 5 pairs in the 224 row, 7 pairs in the 3td
row and so on.

SOCIAL MEDMA TEMPLATE

Based on the above information, answer the following questions :

1)
(i1)

(iii)

15-430/5/3

How many pairs of shoes are displayed in the 6t® row ?

What is the difference of pairs of shoes in the 15! row and the
6th row ?

(a)  Find the total number of pairs of shoes displayed in the first
15 rows.

OR

(b)  If the pairs of shoes displayed in the 4t® row are ‘on sale’ at
price of ¥ 500 for each pair, then find the total amount
(money) earned by Sumant’s mother if all shoes displayed in
the 4th row are sold out.
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